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4. (a)  (3-points) Sketch the region bounded by the parabola =z = y* — 2y and the

9(-';3 'Qﬂ' A

line == 2y

2
X=3-25:(§j,\) ..,f |
Verten ob (.-!)g)

Pts o‘é 1mbev Socki m )
2] = 3’23-’-)3 td=0 =

)

2

Jg-1) =0 =) y=0 Y24
Phs (650), (54

oL?

0 R

(b)  (2- pomts) Set up, but do not evaluate, an integral for the area of the region

in part (a).
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(c)  (2-points) Use the disk/washer method to set up an integral, but do not
evaluate, for the volume of the solid obtained by rotating the region in part

(a) about the line z = —4.
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